

R-polynomials

$$\text{For } s \in S, T_s^2 = (q-1)T_s + q \Rightarrow T_s(T_s + 1 - q) = q$$

$$\Rightarrow T_s^{-1} = q^{-1}(T_s - (q-1))$$

$\Rightarrow T_w$ invertible for all $w \in W$.

$$\text{Set } \varepsilon_w = (-1)^{\ell(w)}$$

Thm. For $x \leq w$, \exists polynomials $R_{x,w}(q)$ of degree $\ell(w) - \ell(x)$ s.t.

$$R_{v,w}(q) = 1, \text{ and } T_{w^{-1}}^{-1} = \varepsilon_w q^{-\ell(w)} \sum_{x \leq w} \varepsilon_x R_{x,w}(q) T_x$$

Furthermore, these polynomials are nonzero.

Pf. Induction on $\ell(w)$. Base case clear.

If $\ell(w) > 0$, write $w = sv$ for $s \in S$, $\ell(v) = \ell(w) - 1$.

$$\begin{aligned} T_{w^{-1}}^{-1} &= T_s^{-1} T_{v^{-1}}^{-1} \\ &= q^{-1}(T_s - (q-1)) \varepsilon_v q^{-\ell(v)} \sum_{y \leq v} \varepsilon_y R_{y,v}(q) T_y \\ &= \varepsilon_v q^{-\ell(w)} \sum_{y \leq v} \varepsilon_y R_{y,v}(q) T_s T_y - \varepsilon_v q^{-\ell(w)} \sum_{y \leq v} \varepsilon_y (q-1) R_{y,v}(q) T_y \\ &= \varepsilon_v q^{-\ell(w)} \sum_{\substack{y \leq v \\ \ell(sy) > \ell(y)}} \varepsilon_y R_{y,v}(q) T_{sy} + \varepsilon_v q^{-\ell(w)} \sum_{\substack{y \leq v \\ \ell(sy) < \ell(y)}} \varepsilon_y R_{y,v}(q) ((q-1)T_y + q T_{sy}) \\ &\quad - \varepsilon_v q^{-\ell(w)} \sum_{y \leq v} \varepsilon_y (q-1) R_{y,v}(q) T_y \\ &= \varepsilon_v q^{-\ell(w)} \sum_{\substack{y \leq v \\ \ell(sy) > \ell(y)}} \varepsilon_y R_{y,v}(q) T_{sy} + \varepsilon_v q^{-\ell(w)} \sum_{\substack{y \leq v \\ \ell(sy) < \ell(y)}} \varepsilon_y R_{y,v}(q) q T_{sy} \end{aligned}$$

$$= \sum_x \sum_w q^{\ell(x) - \ell(w)} R_{x,w}(q).$$

Case 2.

$$x < sw. \quad R_{x,w}(q^{-1}) = q^{-1} R_{sx,sw}(q^{-1}) + (q^{-1} - 1) R_{x,sw}(q^{-1})$$

$$= q^{-1} \sum_{sx} \sum_{sw} q^{\ell(sx) - \ell(sw)} R_{sx,sw}(q) + (q^{-1} - 1) \sum_x \sum_{sw} q^{\ell(x) - \ell(sw)} R_{x,sw}(q)$$

$$\ell(sx) = \ell(x) + 1, \quad \ell(sw) = \ell(w) - 1$$

$$= \sum_x \sum_w q^{\ell(x) - \ell(w) + 1} R_{sx,sw}(q) - (1 - q) \sum_x \sum_w q^{\ell(x) - \ell(w)} R_{x,sw}(q)$$

$$= \sum_x \sum_w q^{\ell(x) - \ell(w)} \left[q R_{sx,sw}(q) - (1 - q) R_{x,sw}(q) \right]$$

$$= \sum_x \sum_w q^{\ell(x) - \ell(w)} R_{x,w}(q). \quad \square$$

Cor. For $w \in W$,

$$T_w^{-1} = \sum_{x \leq w} q^{-\ell(x)} R_{x,w}(q^{-1}) T_x.$$